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PERE w14 2 BB 50,295 FH

TR R (RS By BF) Mg 1 w%E 3,300 TH
[NFR]  Zofh 1 3,300 M

NE (bR WerEs 6 #A%E 19,835 TH
[NFR]  TaA 7Lyt 77 —<fkEtt 1 300 FH
Z D = 19,535 TH

A dCW T N IK=D) Mg 1 w%E 5,000 TH
[NFR]  Zofh 1 5,000 T

IR Mg 1 wEE 2,530 T
[NFR]  Zofh 14 2,530 FH

AR A} Mg 1 wEE 1,650 T
[NFR]  Zofh 1 1,650 TH

IR RERAE A wikgk 1 1 WaE 660 T
[NFR]  Zofh 1 660 T

UAEYF— a0 B wikgk 1 1 WEE 1,000 TH
[NFR]  Zofh 1 1,000 TH

TN = T2 1R 9 B S8 o e it 1 K% 15,000 T
[NFR]  Zofh = 15,000 THM

SeitElE Tt st 2 — MmO 1 1 WEE 1,320 T-H
[NFR]  Zofh 1 1,320 TH
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